
A

STEP 1
WITH SOMEONE'S HELP, WE FLIP THE TOP OVER, 
ALIGN THE HOLES THE BOTH PARTS AND PLACE THE BASE
INSERT THE SCREWS AS SHOWN IN FIG. A

STEP 2
ONCE THE BASES ARE SCREWED TOGETHER WITH THE TOP,

WITH THE HELP OF SOMEONE WE FLIP THE FURNITURE AND
PLACE IT IN THE DESIRED LOCATION

FOOT SLIDERS

FOOT SLIDERS

BUTTON SOCKET SCREW 5/16 X 1"

SPLIT LOCK WASHER 5/16

FLAT WASHER 5/16 X 1

DESCRIPTION #

BUTTON SOCKET SCREW 5/16 X 1" 8

SPLIT LOCK WASHER 5/16 8

FLAT WASHER 5/16 X 1 8

ALLEN KEY 3/16 1

12345

ITEM:

I-SOF-E002

ASSEMBLING INSTRUCTIONS


